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QUESTION 1

Why do you create a multi store table?

A. To improve read performance when accessed by simultaneous applications
B. To have the opt on to partition the table across different storage tiers

C. To evenly distribute the data across all available server nodes

D. To have a table that combines the characteristics of row and column stores

Correct Answer: B

QUESTION 2

Using the table in the diagram, you need to create a cube calculation view. What is the simplest approach to create the
output from the screen shot?

Tabie A Ouiput A
[ vow | Vel [ 2en | 206 | 2w |
2014 100 300 L FabY
2014 200
2015 100
2015 100
2015 200
2015 100
2016 200

A. Create a restricted column for each year.

B. Implement a union node and map each year as a separate column.
C. Create 3 calculated columns.

D. Create a filter expression that uses an OR operator.

Correct Answer: A

QUESTION 3

You want to expose a hierarchy that is defined in a calculation view for access to SQL which of the following conditions
must be met?

Note: There are 2 correct answers .
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A. The hierarchy must be a local hierarchy.

B. The hierarchy must be exposed by a calculation view of type CUBE with star join.
C. The hierarchy must be defined in a calculation view of type SQL ACCESSONLY.
D. The hierarchy must be a shared hierarchy.

Correct Answer: BD

QUESTION 4

A calculation view consumes the data sources shown in the graphic. You want to identify which companies SQLd
products in January 2018 AND February 2018. What is the optimal way to do this?

Projection Sales January 2018 Projection Sales February 2018
Company Product Quantity Company Product Quantity
001 * 10 001 10
002 Y 7 002 ¥ 7
003 K 10 003 i 10
005 ¥ 8 006 W g8

A. Use a full outer join.
B. Use a union node.

C. Use an left outer join.
D. Use an intersect node

Correct Answer: D

QUESTION 5

Why do you build a calculation view of type SQL Access only?

A. To enable SQL access to your hierarchies

B. To provide a high-performance model when only attributes are required

C. To provide a data source that can only be consumed by a function or procedure
D. To provide a data source that is only consumed by other calculation views

Correct Answer: D
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